SERPAC 1152HS

Electronic Enclosures

9.71

OVERALL WIDTH

A=

(7 N\
7 . D
3 . b 8.23
| B OVERALL
; J‘ LENGTH
f f - : 4.25
B | ‘ BOSSES
t_ W —b —- - S ___i b J
\ ' &,
\& Ox <
N/
A <
6.25 BOSSES
8.16 MAXIMUM
INSIDE WIDTH
= i
5.13 5.46
CASE OVERALL
HEIGHT HEIGHT
!
LUL L]
i R
44 BOSS |
HEIGHT
7.75 MINIMUM
INSIDE WIDTH

SECTION B_ B

.82 INSIDE

TOP HEIGHT

4.00 INSIDE
BOTTOM HEIGHT

6.26 MAXIMUM

— ===\ 770N

INSIDE LENGTH

5.98 MINIMUM
INSIDE LENGTH

Aluminum and Plastic Panel Kits are

available as options, see sheets 3-6.

The aluminum panel options are:
Bottom Panel Kit p/n 71008

Top Panel Kit p/n 7100T

Hinged Panel Kit p/n 7100TH

The plastice panel option is:
Hinged Panel Kit p/n 7100HP

SECTION A_A

2 Mounting Brackets included, see
sheet 2 for dimensions and for optional
mounting Corner Feet and Brackets.

-Material: UV stabilized Polycarbonate

Flammability UL 94 V-2

-Watertight enclosure meets or
exceed Nema 4 and or IPé67.

PARTS INCLUDED

P/N Qty. Description
I[T52HST | 1 [152HS Top
IT50HSB | 1 I1150HS Bottom

8150 1 150 O-Ring

1305 2 Mounting Bracket

6028 4 SS #10 X 5/8" Pan H/L

6031 2 #10 X 1" Screw

8001 2 O-Ring for Screw

7/24/18

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPACI152 Mounting Bracket Dimensions

Electronic Enclosures

STANDARD BRACKET—

TOP REMOVED FOR
CLARITY FROM ALL VIEWS

OPTIONAL CORNER FEET \

/.80 FLANGE LENGTH
6.00

 4X @ 29 FOR
1/4" SCREW

INCLUDED STANDARD
MOUNTING BRACKETS

PARTS INCLUDED

P/N Qty. Description
1305 2 Mounting Bracket
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

/ P/N

//OPTIONAL CORNER BRACKETS

PARTS INCLUDED

Qty. Description
1355 4 Mounting Corner Bracket
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

[ T T
PARTS INCLUDED \
P/N Qty. Description
1306 4 Mounting Corner Feet
6028 4 SS #10 X 5/8" Pan Combo H/L Screw
 4X ® 29 FOR
o /.63 1/4" SCREW 4X @ .33 FOR
. 1/4" SCREW
- © :
1.75 % %
i [21©
— i 4.73 6.16
7.48 /.64
:
478 \CORNER FEET CORNER BRACKET

8.16

2.38

7/24/18

2009 Wright Ave. La Verne, CA 21750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100T Top Panel Kit for
SEREIPAC I152HL and I1152HS

8.10

5.66
6.20
® &
@ OPTIONAL ACCESSORY
L 4X @ .20 THRU
= /.56
F 3
06—
PARTS INCLUDED
P/N Qty. Description
71040 1 Top Aluminum Panel
6029 4 SS #10 X 3/8" Pan HL Screw

1/15/18

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100B Bottom Panel Kit for
SERPAC I1152HL and I152HS

6.87

—4X @ .20 THRU

o’

6.25

—.06

TIONAL ACCESSORY

PARTS INCLUDED

2009 Wright Ave. La Verne, CA

P/N Qty. Description
71000 Bottom Aluminum Panel
6029 4 SS #10 X 3/8" Pan HL Screw
7/24/18

21750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAG

Electronic Enclosures

7100TH Hinged Top Panel Kit for
I152HL and I152HS

6.18 R.13
-—1.36
/5
2.12
6.20 495
2.83
\ \
@ @
L J —R.38
| /.56 |
PARTS INCLUDED
P/N Qty. Description
810 71020 1 Hinged Top Aluminum Panel
6029 2 SS #10 X 3/8" Pan HL Screw
6030 2 |SS#10 X 3/8"Pan Combo Screw HL Screw
6105 2 SS #10-32 X1/8" Nut
6028 2 SS #10 X 5/8" Pan Combo HL Screw
é ) 1307 2 Hinge Pin
: - | ] 1308 | 1 Panel Hinge A
' | | ! 1 Panel Hinge B
06— -

Ph. (626)

1309
%—/ 2009 Wright Ave. La Verne, CA 21750

7/24/18

331-0517 Fx. (6268) 331-8584 serpac.com




7100HP Hinged Top Plastic Panel Kit for
SEREPAC 152HL and 152HS

' 02—~
A—=— - 10
S~ — =
y i
B B
5.95 6.19 5.89
\@\ s
& 24 OPTIONAL ACCESSORY
A<—’ - 85 |- 45
— .57 =
/.88
SECTION A-A
SCALE1:1
f $
g g
PN TG Parts Inclgded. .
/.82 71021 :y Hinged Teos;rgfolsc;:: Panel
1310 1 Hinge - Left
SECTION B_ B 1311 1 Hinge - Right
SCALE 1 :1 6028 4 SS #10 X 5/8"' Pan Combo H/L Screw

7/24/18
2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




	I152HS
	Drawing View2
	Section View B-B
	Section View A-A
	Drawing View57

	MOUNTS
	Drawing View14
	Drawing View48
	Drawing View49

	7100T
	Drawing View33
	Drawing View46
	Drawing View54

	71000B
	Drawing View35
	Drawing View52
	Drawing View53

	7100TH
	Drawing View40
	Drawing View41
	Drawing View55

	7100HP
	Drawing View42
	Section View A-A
	Section View B-B
	Drawing View56


